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(D )7. The difference of the smallest odd number and largest even number between 331 and 423 is
(A)93 (B)95 (C)91 (D)89
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8. 120ml of coffee was mixed with some chocolate in a jar. 450 ml of fresh milk was added into

the jar. The mixture was poured equally into 5 cups. Each cup held 650 ml of the mixture. How
many milliliters of chocolate was mixed with the coffee?_ () ml.
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3. The date 30 days ago from today was 22 November. 5 weeks 3 days later, it will be my

parents’ wedding anniversary. What is the date of their wedding anniversary?(12 %)
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